VE 3.69 x ( 2264+ 2319 = 2.00 9034

V2 9.00 x 0.01 0 .09
s 9133 ° 9 13.

V= 1.09 x ( 2264+ 231p = 2.00 4393
s 4393 ° 4 34,

V= 1.54x ( 2168+ 221p = 2.00 3242
s 3242 ° 3 22

9133

4393
s 1342 7° 137

3242
s 3242 ° 3 22

( ) ( ) [ 09.
V= 1342 7 3242/ 09 9809 ° 9 89.
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(10m
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(18- 8- 40EB)
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o
Vi =
/
100 440 100
(18- 8- 40EB)
640
={ 0.108 0.200 ( 0.200
(18- 8- 0.1 ) = 2. 0 «x 0.3 } x
10. 000 10°8 .71
A=( 0.200 0. 100 x 10. 000 0 02 .00
= 0.6489 0.108 10. 000 4 0° . 614
(18-8-40BB)
A=( 0.100 0. 100 x 10. 000 0 02 .00
A={ 0.108 0.200 ( 0.200
—10mm 0.100+ 2.008 0. 340 x
1.000 7 1°2 .07
A= 0.648 10. 000 0 02 .40
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(18- 8- 25B8)

100

=( 0.348 0.106 2.000
(18- 8- 0.2 x 0.1 ) x 10. = *
= 0.108 10.000 = 0 0? .00
=( 0.348 0.106 2.000
=10)mm 0.208 0. 10)0«x 1.000 = 377 . 04
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